Siddharta2 run preparation - ONGOING INSTALLATION ACTIVITIES - L. PELLEGRINO 15-10-18

Nome attivita

18 | novembre 2018 | dicembre 2018 | gennaio 2019 | febbraio 2019 | marzo 2019
10 | 15 | 20 | 25 [ 30 |04 [ 09 | 14 [ 19 | 24 | 29 | 04 [ 09 | 14 [ 19 | 24 [ 29 | 03 [ 08 | 13 | 18 [ 23 | 28 | 02 | 07 | 12 | 17 | 22 | 27 | 04 | 09 | 14
1 TODAY ¢ 15/10
2 |PROCUREMENT and PREPARATION ACTIVITIES [ 1
3 Y vacuum chambers f
4 vacuum chamber delivery (CECOM) -
5 Supports procurement l
6 Welding tests (CECOM)
7 Permanent magnet quadrupoles f 1
8 QDO PMQ Casing and tools delivery (TECNOALARM) —
9 Permanent magnet blocks delivery (ESRF subcontractor) l
10 QDO assembly @LNF
11 QDO magnetic measurement and trim @ESRF -
12 QF procurement
13 QF assembly @LNF N
14 QF magnetic measurement and trim @ESRF L
15 Luminometer [ 1
16 Refurbishment and Mounting of support structure for IR extraction —
17 KLOE end caps opening ’
18 Scaffolding mounting N
19 Rail mounting and alignment L 1
20 Interaction Region extraction
21 IR disassemblying and luminometer recycle 1
22 Luminometer testing and integration
23 Vacuum improvement [
24 Damp kicker chambers replacement (MRE IR2) *L
25 Scrapers chambers revision
26 Ablation on vacuum chambers (from IR2)
27 Vacuum: IR1 MRE pumps replacement
28 |ACCELERATOR INSTALLATION 1
29 Y chambers installation h“
30 Y chambers welding to the Interaction chamber
31 Magnets alignment l L ‘
32 QDO PM quadrupoles installation h \ l
33 QF1 PM quadrupoles installation i & 3
34 Luminometer installation b i
35 Accelerator ready & 19/02
36 |ROLLIN Siddharta-2 %
37 Siddharta-2 Installation l
38 | READY FOR COMMISSIONING ¢ 26/02




MAGNET BLOCK (IMB)

8 I 7 I 6 I 4 I 3 I 2 I 1
+1,5 mm- Adjustable
radially by shimming 24 L,
238
+1,5 mm-OMB Adjustable
radially by screw
108,5
A /
() -
; |
L — i =
SPLIT HERE 1“ ot | =
IN 2 HALVES X s ) / e
\m‘.‘! S/ .“’.k A\ INNER-PERMANENT
—

IMB1 @

OMB1

IMB3

OMB2 H

/
©
NN
L

&N,

V

iz

OUTER PERMANENT
MAGNET BLOCK (OMB)

(1) (5 N o
IMBS @ @ IMB6 55
SENONORNGORO ™
MBT et IMB8 ” PARTS LIST
OMB1 B-B (14 2) ITEM | QTY PART NUMBER DESCRIPTION NOTE
e C(1:2) 5 1 1 |DAFNE-MRMGM3-0000 Top Shell
VIEW INCOMING BEAM B 2 1 |DAFNE-MRMGM3-0008 Bottom Shell
' 3 8 |DAFNE-MRMGM3-0026 Inner Magnet Block N.2
— B e ~ ) A 8 |DAFNE-MRMGM3-0027 Inner Magnet Block N.4
— = T T = - " 5 8 |DAFNE-MRMGM3-0028 Inner Magnet Block N.6
> - — & © © - | @ 6 8 |DAFNE-MRMGM3-0029 Inner Magnet Block N.8
- o) o — O o ? 8 |DAFNE-MRMGM3-0007 Mover Rod
= %§ 8 L, |DAFNE-MRMGM3-0024 End Plate
@\ e 2 @ 2@ 22 8 o /® @ 9 | 12 |DAFNE-MRMGS3-0006 Hook_short
~ ~ - ® CHS @ 10 L, |DAFNE-MRMGS3-0013 Hook long
X | | ‘0/3/@ 11 1 |DAFNE-MRMGS3-0014 Saddle
° e =° I © e[ & % @ L PP@E S 20 12 8 |DAFNE-MRMGM3-0002 Inner Magnet Block N.1
0o o o o 95 ol .. wf . S e - - o |5 DAPNE MRNGYD-000s —finer Magnet Bloc \-
- ~ - 4 - - - nner Mlagnhe (o] .
© © © © ON “”“<‘ et /' R130_J P/ / 15 | 8 |DAFNE-MRMGM3-0005 Inner Magnet Block N.7
®© e o e o e o o | ‘ﬁ ! T 16 | 32 |DAFNE-MRMGM3-0031 Outer Magnet Block N.2
© '&D g 17 32 |DAFNE-MRMGM3-0025 Outer Magnet Block N.1
J %/ 18 | 16 |DAFNE-MRMGS3-0018 Shim 1-15-12-0.9-07-0.45 |QTY SEE DWG
5 © ® © ® © ® ® o o ) ' N 19 | 16 |DAFNE-MRMGS3-0019 Finger
! @% 20 L IS0 2338 - 6 m6 x 12 Dowel Pin
—1° © — N ) 21 | 16 [ISO 4027 - M6 x 20 Threaded Dowel
v 22 32 |ISO 47162 - M5 x 20 Hexagon Socket Head Srew
= ~ ~ = : 23 | 128 [ISO 4026 - M5 x 8 Threaded Dowel
@ | ) o) ] = e @ o T & 24 | 16 [ISO 7045 - M5 x 12 Cross Recessed Screw
25 8 |ISO 4762 - M5 x 25 Hexagon Socket Head Screw
\@ / 26 L |ISO 4762 - M5 x 16 Hexagon Socket Head Screw
] 27 6 |[ISO 4762 - M8 x 30 Hexagon Socket Head Screw
‘ 7 / aTY: | ASSY DWG BELONGS: NOTE QTY: | ASSY DWG BELONGS: NoTE
NOTE: 1 [ DRAWING, RUGOSITY. TOLERANCE ACCORDING T0 ISQ STANDARD REPLACE DWG.
— MAGNET CONSTRUCTION: 2 HALE/SPLIT / - GENERAL TOLERANCE: IS02768 m K ; 15013920 A E —
_ DESIGN: ELLIPTCAL CORE+CIRCULAR SHIMMING ~— B ROUGHNESS GENERAL SURFACE FINIH: Ra 32 AUTHOR Sensolini 03/05/2018
- APERTURE 72X32 mm MATERIAL: WEIGHT:  N/A 5—@ CONTROLLED
_ LENGTH: 220 mm DAFNE - IP1 SIDDHARTA SHEET N: 1 RELEASED
- NOMINAL GRADIENT: 29,17 T/m PMQDO APPROVED
— INTEGRATED FIELD STRENGHT: 6,71 T MAGNET ASSEMBLY SCALE] : 2
_ STABILIZATION TEMPERATURE: 150°
— MAGNET MATERIAL: SmeCo Br= 1,1 T 1) ) NATIONAL INSTITUTE OF NUCLEAR PHISICS e 0 DAFNE-MRMGM1-0000 A2| A
wN FRASCATI NATIONAL LABORATORY HIGg
ACCELERATOR ! ) DRAWING N. SIZE|REV
8 [ 7 [ 6 [ 4 [ 3 [ 2 [ 1




16 I I 14 I 13 I 12 I 11 I 10 I 8 I 7 I 6 I 5 I 4 3 I 2 1
O
11,25°
0 l=— G
3385 i
]
120° |
R38 e
N\ O O
—_ ~7 /N
&, \« R31.5 CHAMFER LINE
‘\\“\
\\ H H
) v 0w y
. ‘ ] P
A @102
‘,0 D
S <
— O O
120° IN 2 HALVES
C 73,5
G-G(1:1)
@ + 0.5 mm-OMB adjustable
radially by shimming
@102
0
i /0 \
[=— R
28 |
N A NNNNNNNNNNNe/ SN N N N N N N\ )

59

839

83

58

F 7 v
OIS NANANES S S S S s A\ AN NN N NN\ )\ )
42-0MB LENGHT | 36- FALSE BLOCK LENGHT
| s :
240 !
| [}
R-R(1:1) = :
90° CW ROTATED ° i‘_ ]
E (10) H-H (1:1)
@ J-J(2:1)
@ @ VIEW OUTCOMING BEAM
N 90° CW ROTATED
PARTS LIST
@ ITEM | QTY PART NUMBER DESCRIPTION NOTE
1 1 |DAFNE-MRMGM3-0009 Shell
2 1 |DAFNE-MRMGM3-0011 PL01/PS01 Chamfered Shell
D 3 3 |DAFNE-MRMGM3-0013 End Flange
!<_ N A 1 |DAFNE-MRMGM3-0046 PLO1 Chamfered End Flange
| 5 1 |DAFNE-MRMGM3-0043 Rotatable Front Bushing
= @‘) ; 6 1 |DAFNE-MRMGM3-0044 Rotatable Rear Bushing
o o o o o o o o o ! o 7 1 |DAFNE-MRMGM3-0049 Fixed Bushing
| 8 4 |DAFNE-MRMGM3-0016 False Magnet Block
—] — @ @ : @ 9 16 |DAFNE-MRMGM3-0032 Outer Magnet Block N.1
/ 7 \, O O 10 32 |DAFNE-MRMGM3-0035 Outer Magnet Block N.3
SPLIT HERE ’ ' 5 / " 16 |DAFNE-MRMGM3-0034 Outer Magnet Block N.2
IN 2 HALVES L1/ @ ) ) 12 16 |DAFNE-MRMGM3-0036 Inner Magnet Block N.1
_\ / / ! o 13 16 |DAFNE-MRMGM3-0040 Inner Magnet Block N.5
”” , _// ! 5 5 14 8 |DAFNE-MRMGM3-0038 Inner Magnet Block N.3
C RN | 15 16 |DAFNE-MRMGM3-0039 Inner Magnet Block N.&
© © [ © (@)
i 16 8 |DAFNE-MRMGM3-0037 Inner Magnet Block N.2
| 17 1 |DAFNE-MRMGM3-0033 Outer Magnet Block N.1 Chamfered
i O O 18 16 |DAFNE-MRMGM3-0042 PMQF1- Shim thickness=1 mm
© © i © ® 19 16 |DAFNE-MRMGM3-0042 PMQF1- Shim thickness=0.5 mm
! 20 4 |DAFNE-MRMGM3-0048 SMR Adapter
— 21 1 |DAFNE-MRMGM3-0050 Compression Spring
© © © © 22 6 |ISO 4035 - M5 Hexagonal nuf
23 17 |ISO 10642 - M3 x 16 Counfersunk head screw
= = | = = 24 4L |1SO 2338 - 3 h8 x 8 Cilindrical dowel
! 25 12 |ISO 4762 - M3 x 20 Hexagon sockef head screw
! 26 6 |[ISO 4762 - M3 x 16 Hexagon sockef head screw
B NN (1:1) |<— N 27 6 |ISO 4762 - Mk x 16 Hexagon socket head screw
NOTE: 28 192 [ISO 4026 - M4k x 6 Threaded Dowel
MAGNET CONSTRUCTION: 2 HALF/SPLIT Dop Lot B Jreaded Boue
DESIGN: CIRCULAR CORE+CIRCULAR SHIMMING 3 1 11SO 4026 — M10 x 10 Threaded dowel
APERTURE @ 59,2 mm aTv- | ASSY DWG BELONGS: oTE atv: | ASSY DWG BELONGS: noTE
- LENGTH of fhe INNER RNG - 240 mn e e s | ot
LENGTH of the OUTER RING : 168 mm ROUGHNESS GENERAL SURFACE FINISH: Ra 3,2 AUTHOR Sensolini 11/10/2018
NOMINAL GRADIENT: T/m MATERIAL: WEIGHT:  N/A g—@ CONTROLLED Sensolini
INTEGRATED FIELD STRENGHT: T DAFNE - IP1 SIDDHARTA SHEET N.1 | RELEASED
STABILIZATION TEMPERATURE: 150° MF’AT,?TS;EzLBOLIY APPROVED
A MAGNET MATERIAL: Sm2Co1? Br= 11T SCALET: 1
INEN AT aTiouaL LabomTonr  [ERh DAFNE-MRMGMI-000T | A0 | A
C ACCELERATOR DIVISION ) DRAWING N. SIZE|REV
16 I I 14 I 13 I 12 I 11 I 10 I 8 I V4 I § I 5 I 4 3 I 2 1




16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1
L L
F-F(1:1)
B E-E(1:1) .
N
~ ~ | .
K | K
&5 | =
k\\‘\f\‘\‘#/‘\‘ - [ @517
/ - \\‘\\\‘\\\\\‘ L /] = ™)
, TTe— O
N i i 6 (8,14°) B — — e —— - B
O e | O
¢5 -/—#"L'/'/ifd-/- — i 7
T | O — F =
| O
J 5 & [ @go2|A]B J
- F
C-C(1:2)
55
@58
¢6 tg,OZ E
| r |
& C
H e H
N
—
: N/ :
“““.
s T T G
A
—
F F
E E
D D
@ o PARTS LIST
C ITEM | QTY PART NUMBER DESCRIPTION NOTE C
@ © © 1 1 |DAFNE-MRVCV3-0000 |IR1-VACUUM CHAMBER"Y"-BODY
G-G ( 1.1 ) 2 1 |DAFNE-MRVCV3-0003 |IR1-VACUUM CHAMBER-TAPER QD
/. ' 3 1 |DAFNE-MRVCV3-0002 |IR1-VACUUM CHAMBER-QF
L 1 |DAFNE-MRVCV3-0001 |IR1-VACUUM CHAMBER-QF
—] 10 5 2 |DAFNEUP-001-009 IR1 VACCUM CHAMBER —
A ( 1.9 ) 1 6 2 |DAFNEUP-001-008 FLANGE DN 100 ROTATABLE
' 7 2 |DAFNE-MRVCV3-0006 |AN ADAPTER 3/8
12 8 2 |DAFNE-MRVCV3-0005 |COOLING PIPE
9 1 |DAFNE-MRVCV3-0004 |CHAMBER Y-CALIPER SUPPORT
B 10 | 12 |VEDI DIS SR BPM ASSY B
1 54 BPM THREADED STUD MS L=24 mm [BRONZE/AISI304
12 54 |I1SO 4032 - M5 HEX NUT AlISI 304
13 1 |DAFNE-MRV(CV2-0002 |BELLOWS/BPM ASSY
AT | ASSY DWG BELONGS: NoTE aTY: | ASSY DWG BELONGS: NOTE
DRAWING, RUGOSITY, TOLERANCE ACCORDING TO ISO STANDARD REPLACE DWG:
— - GENERAL TOLFRANCE: 1502768 m K ; 5013920 A E —
ROUGHNESS GENERAL SURFACE FINISH: Ra 3,2 AUTHOR Sensolini 08/02/2018
MATERIAL: WEIGHT:  N/A E@ CONTROLLED SENSOLINI 23/04/2018
DAFNE SHEET N.: 1 RELEASED
IR1T STORAGE RING - SIDDHARTA RUN ) APPROVED
IR1-POSITRON VACUUM CHAMBER ASSY SCALE] : 2
A A
") NATIONAL INSTITUTE OF NUCLEAR PHISICS DAFNE-MRVCV1-0000 A0l A
INEN FRASCATI NATIONAL LABORATORY ’
ACCELERATOR . DRAWING N. SIZE|REV
16 15 9 8 7 6 5 4 3 | 2 | 1







MM

TIPO

MANUALE D'USO E MANUTENZIONE

HI0[0 357/

CODICE NUMERO REV.

VOLUME SINGOLO

ISTITUTO NAZIONALE DI FISICA NUCLEARE
LABORATORI DI FRASCATI -

GIOGO MAGNETICO
PER ESPERIMENTO KLOE

PREPARATO CONTROLLATO EMESSO

Firma Data Firma Data Firma Data

o a i ;" ~ B it (s I B >
by e TE e o~ 0x-2 = T 3
S b V) - A LV - i - 3

INNSE S| RISERVA TUTTI | DIRITTI RIGUARDANTI QUESTO DOCUMENTO.
SENZA PREVENTIVA AUTORIZZAZIONE QUESTO DOCUMENTO NON PUO' ESSERE
RIPRODOTTO, RESO DISPONIBILE A TERZI, © COMUNQUE USATO IN MODO CHE POSSA
PREGIUDICARE GLI INTERESSI DI INNSE.



	SIM Pellegrino 15-10-18.pdf
	DAFNE-MRMGM1-0001
	manuale INNSE



